Manual = Aluminum Concert
Barrier




CONTENTS

General Type «vvenvnnennennns. /1
Corner Type .vvenniennnnnss. /5
Door TYpe wevvierieieaa /11
Flex TYpe wvevevieennatn. /14
TType weveiiianaas. /18
Barrier Table ................. /27



1. Put it flat on the ground

[a=p]
—
=
(3]
| —
e
w
(3]
D
+—
1)
o
(4]
=
)
S
D
=
D
P
o
(a1
=
e
-
[ BN
N

General Type




3. Pull forward the vertical plate after it was
put up to some degree.

4.Make it vertical to the base plate, while the two
sections of vertical plate and base plate is hooked
each other, as drawing.




-
-

5.Turn up the step plate to the frame of vertical
plate, while it is paralleled to the ground.

6. Use the short bolt to comnect the vertical plate and
base plate if only one barrier is used, as drawing.




C

 © ©o o©

7.When two units are used, first, lock both vertical plate
and hase plate, as drawing. Then use the long bolt to
connect two barriers at the bottom.

o]

O

Lock System of Vertical Plate:
turn the hexagonal wrench clockwise

Lock System of Base Plate:
turn the hexagonal wrench counterclockwise

Tool - Hexagonal Wrench




Corner Type

L
-

.l b k% R R F W
P Bk & * F ¥
b b ok R

L I L]

i * & ok W F B
4 W W -

]
d B & FF B
L] &
Ewow oW wow

LS, ]
-

L
L
#

4 & ¥ ¥

L
L ]
- & A e W

L]

LI O B
- ow

]
L

d &

-
u

&

[ U R B B B B RN AN

L]
d b ok R+ F W
o b R ¥ F ¥
W ol W F R W
o TR E BE B

F
F
F o+ o+
k
i

-
"
L]

i #

-
L]
L]

L L ]
¥ &
il
- o
L
" w
R D I
..
T O
= - " 4
HE R B E

- 4 & &
LB B B
F

-
L]
&
-
L]
-
L]
-
L]

R E i
® % & ¥ ® =W 4

BB Ak ko b

1. Components(as
drawing

2 hase plates

2 vertical plate

2 hraces

1 round axis

4 holts M10x95

4 holt nuts M10
2 holts M10x50

2 holt nuts Mex15




I

Tool: tiny socket

wrench

2.Use tiny socket wrench to screw on the bolt M6x15 to connect the
two base plates, as drawing.




-

()

|

L

=

<

|

o

[an>]

>

D

-

(]

o

o

—|

® © mf

4 § & 5 & 0 5 8 5 & & a4 & & & & 5 & & 4 & & 8 4 & & & & % & & 4 8 B
* & > @ @ @ ¢ ¢ & o N % @ @ * &

o @& & 4 = & » & 9 4 @ " & & 5 0o W

® & > & 8 © B > 3 & N s & @ 5 &

e & 2 O F O 8 O B O 9 ® 5 & @

& & % & & & & & & 90 9 a B 4 @&

4 = o ® o 8 © o O a & o

s o % 8 @ . "

* & 3 * O @ @

- . * 3

e @

- a & » s

L) L

- - 5 &

3 . 9

L L

| & & &

i e LN

| & a @

L L

| & a @
i L]

- L
[ = L
id LI
| o * »

L] LI

L] > 2

L] & @

o » @
L] L
- * &
L] L] « a
- -
a - & a
L L ® &
- - a &
-« L > @ 3 & & &
4 = * & & o & 8 & @ @ s & & & 4 & w ¥ 5 & T o 4 & ®* B B & & & 4 @ W

%m.

|
=

" 5 8 & @ & @

4 & @ @ @& @
® & & ° 0 & & %+ 3 % € ° ° 9

L]
5 9 9 9 9 % & o 9

L ]

3.Put the round axis between the two vertical plates, and use hexagonal wrench to screw on the holt M10x50, as drawing.

2 holts M10x50




4. Make the installed vertical plate upright to the installed base plate, as drawing




4 holts M10x95

4 holt nuts M10

Tool: speed wrench
big socket wrench

5. Fix the brace with holt M10x95 and nut M10 on the base plate and vertical plate

2 braces




6. Adjust the angle from 90 degree to 270 degree as needed
( Please refer to General Type Manual for usage )

10




1. Put it flat on the ground
2. Put up the vertical plate as drawing

ITITIRRRR AL S
\:.:.:..3:
GSIITIILIEIR IR
FIANBEIIIDRBRIIOIAD
BAIRERIIIDIRABISINGY
PARBERRNBNSRRIIINGY
SERRERRIRRERIIINY

NI IENT )
133323223133 )
FEVVIINYIDLSY

Door Type

11



3. Pull forward the vertical plate after it was
put up to some degree.

4. Make the it vertical to the base plate, while the
two sections of the vertical plate with brace and

base plate are hooked each other, as drawing.
Please refer to General Type Manual for usage




Pty
G
St

A

Usage 1:
when ong door Is used, door openning is
0.5m, suitable for only crowd entry

) o b
et
LI S N S
I S S
Lttt

2> 3 = 2 =o'y

Usage 2:

When two doors (one left open and
.. one right open) are used, door

openning is Im, suitable for both
i crowd entry and wheel chairs.

13




Flex Type

1.Rotate the two end profiles and make the vertical plate slide up and down

14




I
o ©
[l o 0 o
o O ©
/ o o 0
o 0 ©
© 0o 0 o
o o o ®
o © 0 90
o 0 ©
6 6 o ©
o o o
0o 0 © © ®
/ 0 @ o
o 0o o ©
} o o ©

0 Tool:h | h
Lock S stem: l:::-:a‘;‘,i' 4 00=nexagonal wrenc
y - ‘('ill‘iil
‘
turn the hexagonal wrench clockwise .
‘
by TV by
I O it D0 'l‘i‘:'i‘i"‘.
I et e i NN I
| LN i [N ! bddag
iatat E Sl b OO G
I - o OO RN Y,
L NN
LR AUOOOOO0r UNOOs
NN LRI R FOOAT L I i o R
el | I Kt NN | BTl e
NN i sttt Y i SOOIOG I OOOOOGONOO | AAARY
HENEN ¢ OO0 B AAAAN RIOO0GE | B XIOCNONOAGENT I WS
SCCIOEICHT N O] OO R OGDOK OO N ONAODONONNENT B ARARN)
Lk d &4 ] ddbd i dEddEdt (o]
LI I LI [N i‘i I‘I‘l‘l‘ 1‘.'.";‘;‘_ ‘l'd‘l‘l'l" i‘ltili*l‘E‘ill‘t.l'(‘#itr 'r'r'u'c'
U I O ) ] dd b dd 4 N} IO N ¢ dddddiddbiidd dd b
PR ‘4 §od g4 b i i 'i l‘l‘l‘l'.'l ‘I'l‘l“l'lt"“.‘.l.‘l‘l‘lr Irl‘ﬂ‘.l.
RN S ORI [ AOU R, S NN ARl [l AN
Fafatetalads L d 4 ¢ didd e 4o did SR 1 SER AR AR AR N Sy
PO LN ECE LN IR R] NN N a0 00 S0 R | ucuj
NN OO I IO ! IO R N0 B X
ERCIC RO O LI
OSSR ASS RN OOTOOOC] F X000 et B | ERs
AL ILIL LS D% BN i b b DOOCE GOOOOOCDOOCCR I S5RA0Y
Jo OOC 1 KXOOUCICUCIOUAAT B AP
[N
3| e NEIOO0000U0 ('I‘IJt‘ili‘iitii‘{'i'l‘*
T Y \ WROONNN0008 DOOUOUTKICRHCHE | RARSRROOGNOO
ANODD0ODODO0KN '.¢¢¢¢¢iil‘i'i‘}. ARANAN, L
e ke Ak A DODOOOOOUCCEFE
“illllillii‘ ;icdiiiiil‘s“-l RN KRN
RN RXHEAR N\ IR mon ! 11 st | bedansaaint
R R AN N A AP N MU OO B ANOUOOCU R
N L N I ] SRR i NOOUCERRRY U]
PR L FOOLIC U B P PN O ¥ OOOUERRARAL N OOOULLRAAN W)
R "‘"‘““:‘iﬁl' “5 :’:‘:'iii‘i.'."‘:‘:‘l " "q‘.':':':':'l‘t'- *:"‘j‘:‘f‘t‘-“““
AT RPN PR NOUC LR -
ke e b h # 8 O [l 1
(L IO
AN N U AR
P LR e n 8 RO ¢
s & i‘|‘i‘l‘.‘i. ¢ .“‘;'i‘ ‘j‘ ‘ui'i‘ "‘ ‘i‘
4‘]" ¥ “15"“"‘- i “‘I “““.‘.‘d ‘ -i‘I
"L “““. AR =, | # .
n ‘iii'l"‘" ‘ “4‘i‘l’4‘ : it ek Ay o
¢ L i ik ]
#“"' " £ A [}

2. When used with other unit, lock the vertical plates and use the
long bolt to connect to the base plate, as drawing

15




3. If only for cable entry or adjusting

.
}

i

il e
bl s
Fy st

OO0
O
I"‘-I‘l

B
l.i' L]

i

i
4
*
i*l

LA
(]
L]

L)
I"'I-

LTy
ey
-+i|.,,,'ilr'+'_.

Tool: hexagonal
wrench

angle, turn the flex type to needed angle and put in the pins to prevent sliding, as drawing




LA EE LT LY

hexagonal wrench

Tool

U.&tdd.lll.t.!.c

T

17

o o
Py iy gy iy

4. When you need to adjust the height on sites, make the flex type slide up or down on the one side as needed ,then put
in the pins on the other side, as drawing.




T Type

1. Put the T Type on the ground vertically

18




Tool: hexagonal wrench

2. Connect ong unit to one side of the T Type, as General Type Manual

19




Tool: hexagonal wrench

3. Connect the another unit to the second side of the T Type, as General Type Manual.

20




Tool: hexagonal wrench

4. Connect one more unit to the third side of the T Type, as General Type Manual

21




Barrier Table

1. Components inside the package

Tool: speed wrench
big socket wrench

2. install the braces with
bolts ML0x95 at the right
direction as drawing




3. Put the installed barrier table on the top of
General Type as drawing

c O O O O O
o o (g D O ©
O O O O O O
o o g b O O
O O = jo o 0
o oy o o
o o Q O O e}
o @ o b o o
O O © o 0 ©
TV UV \ /) fa) i ) @]
0 0000000000 %
0 000000000 ‘
0 30 DR

ABOOODOUOLL r
OO
4‘lll'1‘|."‘|'

-
-
-

e

-’
-
-

-

4.Use the long bolts to connect the braces of
barrier table and General Type, as drawing

23




i ‘ —D
LN OO
4 LICH AN "
fay sﬁlgi""& ﬁaﬁ““z“""

il‘-i'\‘id-j;"r
1 I L) ¢
IO “l‘l‘l‘addd‘;“"ﬁtlll‘

P A S O

LN ) LAY YN
Jdtlloiil&detiosilﬁ

LR L I N N ]
IR NN

LI S O A N ii‘- l‘l‘tot‘ﬁ‘d‘ﬁndinilﬁ
L O L O T BN
ERE I O B O T O O 3 B |
b‘t‘?i 5‘1‘0‘5 .obt'4‘:4‘:‘:‘:‘;‘-'4‘c‘-‘n‘n‘d‘s.o‘ 1.5
4 L] L]

AN N R D e I I O
il.hio&tqﬁtitlﬂlfallloadtiéli‘
LI ) LI i‘i Gl‘t.lic.l'l‘i'itéﬁ ﬁl‘l'-“l‘l'
5 ‘lti.l‘i‘o‘ﬂ‘i‘bll I.&eltidl i‘t‘iﬁldl‘ltﬂ‘d.d.s
lolq;iiaol'i‘ta‘l\‘t‘ill "

L}
¢ €
'] 'L
ﬁll“ﬂii““g‘l“‘.il
[

5. Use holts M8 to connect the barrier tanle and the General Type at the front top as drawing

24




Edge Ramp: Left and Right

1. Put the edge ramps on the ground

25




L

Lock System of Base Plate:
turn the hexagonal wrench
counterclockwise

2. Conngct the ramps at hoth ends of the barriers, as drawing

20






